107,
O'I"i-
e
Wy

% CONECARTS

S M A L L CNC1#AOAOOWO1R2001 LA R G E CNC1#BOAOOWO1R2001

Fasten each single wheel with 4 screws (M8x12) and relative flanged nuts (M8) Fasten each single upright to the lower level with 4 screws (M8X16) and relative flanged
The setup of the wheels must be as follows: nuts (M8)

- two fixed wheels on side A

- one swivel wheel and one swivel wheel with brake on side B

[/

© M8x12

= M8 / / ©) M8x16 M8 / /
) =) feN 1
J N6 P Nets 13 5 T N°04 Nae) N°04 3 5

STEP 3

Fasten the upper surface and each handle at the same time to the correspondent uprights with 4 screws (M8X16) and relative flanged nuts (M8)

@) M8x16 Sy M8 / /
) & 13 5
] nos N°04

v YOUR CART IS READY!

Plaber s.r.l.

Via Div. Tridentina, 10 - 36061 Bassano del Grappa, Vicenza - ltaly - Tel +39 0424 809150 - info@plaber.com




£ CONECARTS

S M A L L CNC1#AOAOOWO1R3001 LA R G E CNC1#BOAOOWO1R3001

STEP 4 (OPTIONAL)

Fasten the intermediate shelf to each single upright with 4 screws (M8X16) and relative flanged nuts (M8)

oo / /
N°04 13 >

YOUR CART IS READY!

WORKSTATION VERSION

: .
Overturn the = : /]

upper shelf

to transform
your cart into
a Workstation.

3,

Plaber s.r.l.

Via Div. Tridentina, 10 - 36061 Bassano del Grappa, Vicenza - ltaly - Tel +39 0424 809150 - info@plaber.com



